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1 The total wave function of molecule according to VBT is written as -

VBT & SJER &Y & $d 99 Haad v &
(A) ¥=V,p (B) w=v,p

©) v=v,vg (D) y=y,+yg

2 Which of the following electronic transitions in a hydrogen atom will require the

largest amount of energy ?

(A) From n=0 to n=1 (B) From n=1 to n=2

(C) From n=2 to n=1 (D) From n=3 to n=4

TEgeE T ¥ R seeite qome W 999 SRl el @l Sekd B 7
(A) n=0 ¥ n=1 (B) n=1 ¥ n=2

(C) n=2 ¥ n=1 (D) n=3 ¥ n=4

3 The isoelectronic set of ions is -

(A) Li", Na", O and F_ (B) F, Li", Na" and Mg2*

(C) N3, O, F and Na' (D) N3, Li*, Mg?* and O%-
e § a @ AT sEEEwn € 7

(A) Li", Na", O @1 F (B) F, Li", Na' qam MgZ"

(C) N3, 02, F qur Na' (D) N3, Lit, Mg2* qur O*

4  The ratio of the shortest wavelengths of two spectral series of hydrogen spectrum

i1s found to be 9 (Nine). The spectral series are -

(A) Balmer and Brackett (B) Lyman and Paschen

(C) Paschen and Pfund (D) Brackett and Pfund

TEEN Wagh @ & Wagdl RN @ wygew it @ U 9wt W ¥ Weagd
aferat ¥ -

(A) s W& dhe (B) A= wd Wiy

(C) Ty w s (D) s%e W GS

5 Two pi and half sigma bonds are present in -

& U deon omenm R Y SuRuq ¥

(A) O, (B) O;

© N, (D) N,

PD-10-CAP 0 2
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6  The correct statement among the following is -
(A) (SiH;);N is pyramidal and less basic than (CH;);N
(B) (SiH;);N is pyramidal and more basic than (CH;);N
(C) (SiH;);N is planar and less basic than (CH;);N
(D) (SiH;);N i1s planar and more basic than (CH;);N

frfafag & w9 &1 ®ow 9@ & -

(A) (SiH;1;N Rrufied & @en (CH;;N & &9 9ig 5 |
(B) (SiH;1;N frufied & @en (CH;);N 8 SR 9™ 3 |
(C) (SiH31;N =R & qar (CH;;N & &9 94 § |

(D) (SiHy);N ==X & @ (CH;;N & SO 9ig & |

7  In trigonal planar arrangement the ratio is -

A WY e § B o &l 7 -

(A) 0.732 — 1.00
(C) 0.225 — 0.414

8  An sp® hybrid orbital contains -
(A) 3/4 s character
(C) 1/4 s character
sp3 WHY Siifded TRV wYAT T -
(A) 3/4 s w@wx ([
(C) 1/4 s H{@ex

(B) 0.414 — 0.732
(D) 0.155 — 0.225

(B) 2/3 s character
(D) 1/2 s character

(B) 2/3 s h@ex
(D) 1/2 s %@ex

9  Lowest temperature 1s reached by using -

(A) Ether + Dry Ice
(C) Acetone + Dry Ice

(B) NH,CI

= @1 Sy @Y eaw dused utd feem ST o®eRdn ® -

(A) 3o + 3B oEH
(C) THRM + 3E ¥E™

(B) NH,CI

10 The number of eutectics in the phase diagram of Fe,Cl; — water system is -

Fe,Cl; — i@t foed & % =eum o go gefeeam & & |

(A) 3
€) 5

PD-10-CAP 0
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11  In the following reaction : xA—yB

d(A d(B
IOglo{_ %}:1%’10{%}03010: “A” and “B” respectively can be-

(A) N,O, and NO, (B) n-Butane and Iso-butane

d(A) d(B)
wfifF xA—>yB & 10gjg| - — = |=log;o| == |+0.3010,
“A” gur “B” wuUS: B Ghd §F -
(A) N,O4 dat NO, (B) n-Butane Tt Iso-butane
(C) C,H, aar C4Hg (D) C,H, @1 C4Hg

12 In first order reaction the conc. of reactant decreases from 1.0 M to 0.25 M in
20 minutes, the value of k is -

(A) 0.06932 (B) 0.6932

(C) 6.932 (D) None of these

wow e wfafear # wiyene @ @r=mar 1.0 M & 0.25 M, 20 minutes § o=dl &
ar k@ AN E -

(A) 0.06932 (B) 0.6932

(C) 6.932 (D) =™ ¥ @iz &l

13 The one which is a uni-molecular reaction is -

Prfrfies ¥ @ B @ gPidpee o ¥
(A) N205%N204+%02 (B) H,+Cl,—2HCI

(C) 2HI-H,+L, (D) PClL+Cl,—PCl,

14 The heat of neutralisation is maximum for the reaction -

(A) NaOH and CH;COOH (B) HCI and NH,OH

(C) NH,OH and CH;COOH (D) NaOH and HCI

= fafeen &1 Sie sitw gramsiem aifeas s |

(A) NaOH @@t CH;COOH (B) HCIl d=r NH,OH

(C) NH,OH <=1 CH,COOH (D) NaOH dear HCl
15 The heat content of a system is known as -

(A) Entropy (B) Free energy

(C) Internal energy (D) Enthalpy

foredl e &1 8 H= A S ¥ -

(A) Tz (B) wH Tl

(C) oriafw St (D) el

PD-10-CAP 0 4
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16 Best way to prevent rusting of iron is by -

(A) Putting it in saline water (B) Making iron cathode
(C) Both of these (D) None of these

RN W ST W W e M qUS SO ST WAl §

(A) |aET dRI ¥ S WY WA 9 (B) @R W HAE TN WX
(C) =t Tlw (D) T ¥ B T

17 The oxidation potential of Mg and Al are +2.37 and +1.66 volt respectively.
The Mg in chemical reaction -
(A) will replace Al (B) will be replaced by Al
(C) will not be able to replace Al (D) None of these
Mg T Al %1 steriieor fawe st +2.37 qor +1.66 dive & | @™t iatear § Mg
(A) Al & wheeenfig som (B) Al & g0 wioenfya &
(C) Al = wloeenfyg =& &wam (D) 3% ¥ @3 &l

18 A solution of Ni(NO3), is electrolysed between Pt - electrodes using 0.1 Faraday
electricity. How many moles of Ni will be deposited at the cathode ?
Ni(NO;), @& faem § 0.1 %S &1 f4ga &1 9are wid g Pt - Siage & S/ saagiaEst
HE T HAE X fha A Ni s s ?

(A) 0.10 (B) 0.05
(C) 0.20 (D) 0.15

19 An element has a face centred cubic (fcc) structure with a cell edge of a. The distance
between the centres of two nearest tetrahedral voids in the lattice is -
Th dd H a BISHl B aWl Th Badk-bisd @9 (fec) @xam 31 sas (lattice) o
A gy agshaeE N % hEl % 9™ oI §

(A) Y B) ¥,

(©) a (D) V2a

20  Which primitive unit cell has unequal edge lengths (azb#c) and all axial
angles different from 90° ?

(A) Monoclinic (B) Tetragonal

(C) Triclinic (D) Hexagonal

H ¥ WU ghie ad 0 oFa BR @9 (azbzc) qUT WW SEA HO 90° ¥
e E7

(A) THTIAE (B) feawana

(C) Prama (D) wHIO

PD-10-CAP 0 5
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21 For coagulation of arsenious sulphide sol, which one of the following salt solutions
will be most effective ?

SETIE qeh3s i & Bifay & fag frefafea & @F @1 @@ &1 9 9@ gaEl

7
(A) NaCl (B) AICl,
(C) Ba(Cl, (D) Naj;PO,

22 Agl 1s used for producing artificial rain because Agl -
(A) 1s soluble in water
(B) 1s easy to synthesise
(C) 1s easy to spray at altitudes
(D) has crystal structure similar to ice.
FEM au SO ®HE g Agl @1 SwEm fean s @ oRife Agl
(A) W ¥ omae ¥ g
(B) @Ml ¥ ST S Ghal ® |
(C) EMI ¥ &Y WM ¥ WeHa fha o gdar & |
(D) freea ompfa % & @9 § |

23  Which of the following is a thermosetting polymer ?

(A) PVC (B) Nylon 6
(C) Bakelite (D) Burn-N
e 4 &R o gEEiET difier &7

(A) e (B) =@ 6
(C) dYohemsz (D) &N

24  Which of the following compounds 1s a constituent of the polymer
i
[-HN-C-NH-CH,-] ?

(A) Ammonia (B) N-methyl Urea
(C) Formaldehyde (D) Methylamine
i
Frfafad & @ @1 guew die [ -HN-C-NH-CH,-] @1 ¥ ?
(A) e (B) N-ufore g
(C) wifkdare (D) AR@uReE

25 Catalyst used for hydrogenation of oils is -

qd & EESINEIN H diF 91 Ik & SUAT EAT & 7
(A) Ni (B) Pt
(C) Fe D) V,0;5

PD-10-CAP 0 6
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26 In the reaction KMnO,+H,SO,+H,C,0,— Products. Mn?" ions act as
(A) Negative catalyst (B) Enzyme catalyst
(C) Positive catalyst (D) Auto catalyst
aififn KMnO,+H,S0,+H,C,0,— SaE & Mn?" & &z & -
(A) Tfea Ia® (B) USEH I3
(C) dUNiEE Sa® (D) @ I
27 In the Raman spectrum, the middle line 1s called -
(A) Rayleigh line (B) Raman line
(C) Functional group line (D) None of these
O WA A @ET @ wEl S €
(A) @ (B) W ¥
(C) wamd Ju w3 (D) 3% ¥ @3 &l
28 The spectra caused in the IR region by transition in vibrational levels in different
modes of vibrations are called -
(A) Electronic spectra (B) Rotational spectra
(C) Vibrational spectra (D) None of these
wa H fafr faft § wmfe ' A d@wwe s R & 7 afod We weawn §
(A) T de (B) =i e
(C) @i ezt (D) T ¥ B T
29 The fundamental vibrational frequencies in the IR spectrum of CO, are -
CO, @1 IR Wagd @ Hifwedh AESIEA Wlda 4] & —
A) 1 (B) 2
©) 3 (D) 4

30 Which of the following diatomic molecules will not give a rotational spectrum ?

fret ¥ ¥ B erTAhm WG Qe S A8

(A) CO
(C) HF

PD-10-CAP 0
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31 The correct form for a simple Langmuir isotherm is -

WA AR wad % fe wd ' ¥ -

(A) 6=k, ®) o=(k,)”

(©) 8=k, /[i+k,) (D) o=(1+k,) /k,

32 The temperature dependence of a reaction is given by K=AT? exp(—EO /RT).
The activation energy (Ea) of the reaction is given by -
afe sl @ a fefar & 31 ¥ K=AT’exp(-E,/RT) @ 38 sffem &
afpar wolt (E,) @ T

(A) E, (B) E0+y2RT
(C) 2E,+RT (D) Ey+2RT

33 The molecule that possesses S, symmetry element is -

(A) Allene (B) Ethylene

(C) Benzene (D) None of these
o] e S, @mfifG 9« &, 9@ T -

(A) Tem (B) ufe

(C) =i (D) =78 & @iy T

34 The total number of symmetry elements in diborane molecule 1s -
SEENA o] ¥ Ata d@l B A el T -
(A) 2 (B) 4
© 6 (D) 8

35 Lowest ionisation potential will be of -

(A) Inert gases (B) Alkali metals
(C) Halogens (D) d-block

gy fraan emeiee fawea feee sem ?

(A) P e (B) swad iew
(C) M (D) d i@

PD-10-CAP 0 8
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36 Increasing order of electronegativity of the elements is -

Jal @ fagaweTeea Sed wH W T -
(A) N, Si, C, P (B) Si, P, C, N
(C) C, N, Si, P (D) P, Si, C, N

37 Based on VSEPR theory, the predicted shape of [XeFSJ_ 1S -

(A) Square pyramidal (B) Pentagonal planar
(C) Trigonal bipyramidal (D) None of these
VSEPR Rigid & omeR W [XeFs| & f9Q wge omgiy ¥ -
(A) =i e (B) duyeid wHAw
(©) Prewmar fafrfiea (D) =7 ¥ HE &

38 Which one of the following will have tetrahedral disposition ?
e Texeew fewdsiiy g ?

(A) so3 (B) soj

(©) SO, (D) SO;

39 CO, 1s isostructural with -
CO, &1 & HIOAA® BT —
(A) NO, (B) C,Hj
(C) SnCl, (D) HgCl,

40 Which of the following is least ionic ?
g9 ®Y AANH B -
(A) Ba(Cl, (B) CoCl,
(C) AgCl (D) KCl

PD-10-CAP 0 9
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41 Which of the following is not a hard acid ?

(A) Mg (B) Pd**
(C) Ti* (D) Na*
e o wF e opw RN ¥ 7

(A) Mg (B) Pd**
(C) Ti* (D) Na*

42 The term hard and soft acid and base was given by -
(A) Pearson (B) Bransted
(C) Lewis (D) Franklin
TS WS WU O TF W H Ghd T BRI T W -
(A) frras (B) wtes
(C) dfam (D) Fhebet

43 The expected H-H-H bond angle in [H3]+ is -

(A) 60° (B) 90°
(C) 120° (D) 180°

[H,]" ¥ H-H-H s &1 & gl o & -

(A) 60° (B) 90°
(C) 120° (D) 180°

44 The g value for Ce3"(4f%) is -
Ce3"(4f*) & fw g &1 a9 & —

a ¥ B %
© % D) %
PD-10-CAP_0 10
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45 The lowest energy state of an atom with electronic configuration nslnp! has the

term symbol -

(A) °P, (B) P,
(C) °P, (D) P,
g =@ nslnp! & wwn) & <EAw Sl oERen wE @ UG §
(A) 3P, (B) °P
(©) °P, (D) 'p

46 Which of the following has highest CFSE ?

(A) (FeCly)* (B) [TiFg]*

(©) [Cr(Hy0)g]*" (D) [Mn(H,0)¢]**
1 # fpeer CFSE @@ oty srm 7

(A) (FeCly)* (B) [TiFg]*

(©) [Cr(Hy0)g]*" (D) [Mn(H,0)¢]**

47 Which of the following systems has maximum number of unpaired electrons ?
(A) d° (Tetrahedral)
(B) d7 (Octahedral, High Spin)
(C) d* (Octahedral, low spin)
(D) d° (Octahedral)
=1 o fow Rrew 9 ogfva soee™l @ g sfuewaw B 7
(A) d° (ageeara)
(B) d7 (s=waaE, s @)
(C) d* (sr=wwar, Fr wfM)
(D) & (srewherr)

PD-10-CAP_0 11
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48 Number of microstates available for a p3 configuration is -
(A) 15 (B) 20
(C) 45 (D) 6
p’ sifufeme & fu @ AEmee B -
(A) 15 (B) 20

(C) 45 (D) 6

49 Which one does not form mononuclear carbonyl ?
(A) Fe (B) Ni
(C) Mn (D) None of these
A AR BRI T S 7
(A) Fe (B) Ni

(C) Mn (D) =™ & @y T

50 Coordination number of Cr in potassium trioxalatochromate (III) is -
(A) 12 (B) 9
€ 6 (D) 3
wefimm ggendeaesie (1) § Cr & #HienfEaym dem & -
(A) 12 (B) 9

€ 6 (D) 3

PD-10-CAP 0 12
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51 Strongest ligand in spectrochemical series is -

WFIHAHT JEdl ¥ q99 A9gg s & —

(A) CN™
(C) Br

(B) CI”
D) 1T

52 Thermodynamic stability is determined by -

(A) Activation energy
(C) Reaction rate

(B) Stability constant
(D) All

qHSEAHE Wi 3 [hdl Sar &

(A) THRRET el g
(C) wfalean & &

(B) =@ Rexiw g
(D) @

53 The calculated and observed magnetic moments (in B.M.) of aqua complex of a
lanthanide ion are 0 and —3.5 respectively. The lanthanide ion is -

Th WUMES AT & Ul Gd & (WY gdivd 9o sfaaled g engel (B.M.
H) %wast 0 g —3.5 ¥, WUES o § |

(A) Pm3"

©) Eut

54 Chelate effect 1s -

(B) Pr3*

(D) Sm’

(A) Predominantly due to enthalpy change

(B) Predominantly due to entropy change

(C) Independent of ring size

(D) Due to equal contribution of entropy and enthalpy change

CAGCARCK: |-

(A) Je7eT ¥ T¥l ¥ qfEas % &R § |
(B) gemey ¥ Tl ¥ uRads & @re ¥

(C) aog 9B« & @WadA & |

(D) Tdedl wd urdl ¥ uRedd & @ ArEE § 'R g |

55 Oxidation state of metal in metal carbonyl is -

Heq HEE H Ted i SIaIhIo gy & —

(A) 0
<€ 2
PD-10-CAP 0

(B) 1
(D) 3
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56 Which of the following is Zeise's salt ?

fr=faflad & 9 &9 Zeise @awr ¥ ?
(A) Ky[PtCly]
(C) KI[PtCl3(C,Hy)]

57

(A) Closo - structure
(C) Hypo - structure

(B) Fe(CO)s
(D) Ky[Fe(CN)g]

According to Wade's theory the anion [B,,H;,]*>~ adopts -

(B) Arachno - structure
(D) Nido - structure

Is fagmg & ogEr [B,H )%~ owemm & —

(A) Closo - @x@

(C) Hypo - €<=

(B) Arachno - 3=
(D) Nido - ¥x=

58 The metallic radii are abnormally high for which of the following pairs ?
frafafag g=f & & fred aifas BER oF W &7 § 399 & 7

(A) Sm, Tm

(C) Nd, Ho

(B) Eu, Yb
(D) Gd, Lu

59 The number of 3C — 2e bonds present i Al(BH,); 1s -
Al(BH,); ® wuRed 3C — 2¢ amedi & €& § —

(A) 0O
©) 4

(B) 3
(D) 6

60 The 2EgezAzg transition in the electronic spectrum of [Cr(NH;)]>" occurs

nearly at -

[Cr(NH3) P & soraive dag & “E Ay, oo afed @ar & s

(A) 200 nm
(C) 450 nm

PD-10-CAP 0

(B) 350 nm
(D) 650 nm
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61 Which element is essential for blood clotting ?
GT % S % (G0 B G q@ AEEH &7
(A) Ca (B) Ba
(C) Sr (D) Ra

62 Protein present in haemoglobin is -
fedraite o = wdm sufem & -
(A) Iron (B) Haem
(C) Myoglobin (D) Globin

63 The reasonance Raman stretching frequency (v, in cm™) of O, is 1580.
The vy_o for O, in bound oxy-hemoglobin is close to -

(A) 800 (B) 1100
(C) 1600 (D) 1900

O, & AR W T dER (v, om)) 1580 ¥ | oiferd-Emraited § omafa
Oz%WVO_OWW%%%*

(A) 800 (B) 1100
(C) 1600 (D) 1900

64 The compound which shows IR frequencies at both 3314 and 2126 cm™! is
diftes & 3314 qam 2126 cm! w IR smgfaat soifan &, @8 & -
(A) CH;5(CH,),CH,SH (B) CH;4(CH,)4,CH,C=N
(C) CH;4(CH,),CH,C=CH (D) CH;(CH,),C=C(CH,),CH;

65 The number of unpaired electrons for the complex ion [VF(]3~ is

(A) 0 B) 1
<€ 3 (D) 2
[VF P~ & orghva saaeml & den Fe & -

(A) 0 B) 1
<€ 3 (D) 2

PD-10-CAP 0 15
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66 The number of Ni-Ni bonds in [CpNi(l -PPh,)], complex obeying the 18 electron
rule is -
(A) 0 B) 1
<) 2 (D) 3
18 ¢~ frm @1 wiee &< @ [CpNi(u -PPhy)], Sd & Ni-Ni omdsi # e & —
(A) 0 B) 1
<) 2 (D) 3
67 The co-ordination number of Gd in GdCl;-6H,0 1is
(A) 3 (B) 6
(O D) 9
GdCly:6H,0 & Gd & gw=e wen &
(A) 3 (B) 6
<) 8 (D) 9

68 The character of LUMO of CN and O, respectively are -

(A) Oy, and =,

(C) my and o,

(B) =, and o,

u

(D) o, and T,

u

CN @1 O, &% LUMO &% @& & @A

(A) 0, 3R =,
(C) m, &R o,

69 Noradrenaline is a/an -
(A) Antihistamine
(C) Neurotransmitter
TAEATEE § -
(A) U= T
(©) FugrEeT

(B) =, ¥R o,
(D) o, 3R Ty

(B) Antacid
(D) Antidepressant

(B) uw=rdre
(D) w=ifeade

70 The concentration of dissolved oxygen (DO) in cold water can go upto -

31 A H AN SRS %I WAl SfUmad S dhal & -

(A) 8 ppm
(C) 14 ppm

PD-10-CAP 0

(B) 10 ppm
(D) 16 ppm
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71 Taj Mahal is being slowly disfigured and discoloured. This is primarily due to -

(A) Global warming
(C) Water pollution

(B) Soil pollution
(D) Acid rain

s wEd 94y AR qom Wl B S W R | A8 e M BRI ¥ % -

(A) Frggamdt i
(C) @ wgum

(B) &l wguw
(D) o aui

72 The IUPAC name of the compound CH,=C—CH,—C=CH is

(A) 4-methyl-4-penten-1-yne
(C) 2-methyl-1-penten-4-yne

|
CH,

(B) 4-methyl-2-penten-1-yne
(D) 2-methyl-2-penten-4-yne

i CH2:|C—CH2—CECH &1 IUPAC - & —

CH,

(A) 4-ARA-4-94-1-yne
(C) 2-Af9a-1-4==-4-yne

(B) 4-Af9R-2-U=E-1-yne
(D) 2-Af9R-2-U=E=-4-yne

73 The IUPAC name of the given structure f is -

(A) 3, 3-Dimethyl pentane
(C) 3-Ethyl-3-methyl pentane
AT i @ IUPAC - &
(A) 3, 3=Ealm uem

(C) 3-ufyw-3-Bfye o=

(B) 3, 3-Diethyl pentane
(D) 3-Ethyl-3-ethylpentane

(B) 3, 3-smufya ded
(D) 3-uira-3-uireued

74 Which among the following compounds will give Cannizzaro reaction ?

fefafad & ¥ @9 91 ®WRTE FANR Udihar M 7

(i) CgH;— CHO

(i) CCl;— CHO
(A) (i), (i) and @& (iv)
(©) (), (i), (iii) and (@&m) (iv)

e
(i) CH;—C—CHO
CH,

(iv) HCHO
(B) (i), (i) and (@& (iii)
(D) (iii) and (@) (iv)

75 In aldol condensation, product of the reaction is

(A) o-hydroxy ketone
(C) pB-hydroxy acid

TdSd 9= H WiAihal @ Yidwd & -

(A) o -FESHT BREA
(C) p-emz T

PD-10-CAP 0
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(B) o-EEg Uy
(D) p-EEgl TliewEs



https://applink.adda247.com/d/XhqWf9lSap

Adda247

76 In the reaction sequence

CH; ()O3

CH;~ C=CH—CH, (i)Zn/HC1/HOH (X]+[v]

[X] and [Y] will respectively be -

(A) Acetone and ethanol (B) Acetone and acetaldehyde

(C) Propanol and ethanol (D) 2-Propanol and ethanol

ariyfpa CH3\C=CH—CH 1)O3 [X]+[Y] & [X] wa [Y LR
el S e 3 (i) Zn/HCI/HOH [X] e [Y] somsr:

(A) e T e (B) i Wi e

(C) wueTe wd wymd (D) 2-yuHiE Ud oM

77 The given reaction

© CuzClz /HC]
— 2l

@ .
C¢cHs—N=NCI CeH;Cl+N, 18 known as

(A) Glaser reaction (B) Schiemann reaction
(C) Sandmeyer reaction (D) Chlorination
fr ™ wfafen
D
C.Hs—N=NCI® S22 /M o g N, s wm 3
(A) ToEx wiakean (B) €M widfopa
(C) ¥sHay wiafean (D) FRAIH
78 Benzoylation of amines can be carried out in presence of -
(A) Only aqueous medium (B) Only non-aqueous medium

(C) Both aquous and non-aqueous medium (D) HOH/MeOH only
T & SeigaeE e @l SuRafq § @l S g -

(A) Tah Sielrr Hreaw (B) Rrb famn s wmemw
(C) i s oiX famm e wrem (D) HOH/MeOH fu&%

79 If a proton is linked to some electronegative atom in the form of hydrogen bond,
absorption will occur -

(A) up field (B) down field

(C) unchanged (D) can not say

Ifs U WM fadl [Easonee ] ¥ SEee S8 % &9 § 9l o df, STagiyr s
(A) = fres (B) sma fres

(C) i3 dgaE &l (D) & %% qHd

80 How many 'HNMR signals are expected from the following compound-

f& ™ d@fe 4 frem @wilem 'HNMR fa=@ e

e
H3C4@»|C—CH3

CH,4
(A) 2 B) 3
<€) 4 (D) 5

PD-10-CAP_0 18
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81 The N-atom of pyridine is -

(A) sp-hybridised (B) sp3-hybridised
(C) sp2-hybridised (D) Can not be predicted
g &1 N-wamg & -
(A) sp-ga&id (B) sp3-gaikd
(C) sp?-H&ia (D) W@l TEl W
82 Pyridine has a delocalized w-molecular orbital containing -
(A) 4-electrons (B) 6-electrons
(C) 8-electrons (D) 12-electrons
T @1 fedipagsrs ©-Adiger siffded @dal & —
(A) 4-seiai (B) 6-5waziT
(C) 8-geiarzid (D) 12-5wT
83 Which of the following cannot be detected with the help of UV absorption spectra ?
(A) Functional group (B) Conjugation
(C) Optical isomerism (D) Geometrical isomerism
frfafaa o feget oar UV qeduye ®agl & 7ag § 78 dl @ Hehd—
(A) HFREAE Ju (B) wisIe™
(C) onfesre ToITEaT (D) aWfehe qHATET
84 The bond length in CNT is 0.129 nm. The position of second line in the microwave
spectrum 1S -
(A) 9.396 cm! (B) 6.264 c¢cm!
(C) 12.528 cm™! (D) 3.132 cm™!
CN' # §g w&§ 0.129 nm ¢ | g4 T Wagn o o Y@ & Reafq & -
(A) 9.396 cm! (B) 6.264 cm™!
(C) 12.528 cm™! (D) 3.132 cm™!

85 The Carbon — Carbon bond length is maximum in -
(A) CH,=CH, (B) HC=CH

©) @ (D) CH;CH,4

sifteaw C-C ¥y de @ &l —
(A) CH,=CH, (B) HC=CH

©) @ (D) CH;CH,4
PD-10-CAP 0 19
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86 How many structural isomers are possible for C,H,Cl ?

C,HyCl &1 dufid waeRe et e —
(A) 2 (B) 3
©) 4 (D) 5

87 It is possible to distinguish between optical isomers by -

(A) Polarimetry (B) Using chemical tests
(C) IR spectroscopy (D) Mass spectroscopy
HAfeHA ABETE @ TEAH WG § -

(A) TS B (B) wEt® i g}
(C) IR W@ F (D) w8 W g

88 Which of the following compounds is aromatic ?

et 4 @ @ Qe wwfes & 0°

@ || (B) @
)
© (D) ©

N

89 Which of the following will undergo substitution in the ortho and para positions
rather than in the meta position ?

(A) Nitrobenzene (B) Acetanilide
(C) Benzaldehyde (D) Benzoic acid
e 9 o aF w1 Rafa & ssm offer @ & Refa o wfwemms wom ?
(A) eI (B) uhefmmss
(C) d=idfeerEs (D) dwiizw Ufes

90 Toluene can be converted into benzaldehyde by -
(A) MnO, (B) Ac,O/AcOH
(C) Chromyl Chloride (D) All of these
IqET B SIAseRs H URad feEn S ogwar € -
(A) MnO, zra (B) Ac,O/AcOH =z
(C) ®YEd FRES & (D) Sulh G

PD-10-CAP 0 20
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91

92

93

94

95

Acid can be reduced into ketone by -

(A) NaBH, (B) LiAlH,
(C) R,CuLi (D) R-Li

A HB DT 9 SUaia fRar S GehdT ®

(A) NaBH, zm (B) LiAlH, zmr
(C) R,CuLi & (D) R-Li @

Which among the following compounds will react with NBS|CCl,|h® ?
frfafeq & Ree@ NBS|CCl,[ho wfafen wom ?

CH, CH;
| |
(A) CH3—C|—CH:CH2 (B) C¢Hs; —?—CHz —CH,
CH; CH,4
CH;

Which among the following groups is not reduced by BH; -
frafafeq & @ @1 g9 @& ew=Es BH; & T& #mm 7

A) >c=c_ (B) -NO,
e |
(C) —COOH (D) -C-0-C-

Acetic anhydride is used as -

(1) Acetylating agent (1) Dehydrating agent
(111) Reagent in Perkin reaction (iv) Methylating agent

(A) only (i) (B) only (i) and (ii)

(C) only (i), (i1) and (iii) (D) only (i), (i1)) and (iv)
uffeds TTRESES @ IwEM e oeU R S ¥ -

(i) uRerdyE o= % U ¥ (i) fesmsas Uoie & ¥4 o
(i) " afHfrm o quse & v0 A (iv) AT oS % 0 |
(A) fak (i) o (B) fad (i) wd (i) #

(©) fad (i), (ii) T (iii) ¥ (D) fa (i), (i) T (iv) ¥

The frequency shift of the carbonyl absorption in the cyclohexane carboxaldehyde is -

UEFARa BEIeeEs o HEd a9l &1 g faemT & —
(A) 1600 cm! (B) 1700 cm!
(C) 1835 cml (D) 1730 cm!

PD-10-CAP 0 21
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96 The frontier orbital interactions involved in the formation of Carbocation intermediate
in the reaction of isobutylene with HCl are -

(A) m of olefin and ¢ of HCI (B) m of olefin and ¢ of HCI

(C) = of olefin and ¢ of HCI (D) = of olefin and " of HCI
sgEgfed @ HCl & sifwfiran o wmraamas aggadl & faws & fag s wieay sifded
== fed wfnfie O %, @ ¥ -

(A) sfifdw &1 ¢ @@ HCl &1 o
(C) s @1 n @ HCl &1 o

(B) oifww @1 x @um HCl &1 o
(D) &ifes &1 ¢ @ HCl &1 o

97 Which base is present in RNA but not in DNA ?

(A) Uracil
(C) Thymine

(B) Cytosine
(D) Guanine

RNA § & @1 99 &1 ¢ St DNA & & ?

(A) ZmEw
(C) gmHm

(B) wEeEN
(D) TamH

98 o-D(+)—glucose and B-D—(+)—glucose are

(A) Epimers
(C) Enantiomers

(B) Conformers
(D) Anomers

oD (+)—qhST Tl B-D—(+) Tq@ST &

(A) 3I=Y
(C) TR

99 Biuret test is not given by -
(A) Proteins
(C) Polypeptides
IEYE XL TR <@ T -
(A) W
(C) disi=rEs

~

(B) =rwmrER

(D) T

(B) Carbohydrates
(D) Urea

(B) weigEge
(D) gfen

100 The compound which acts both as antipyretic and analgesic is -

(A) Aspirin
(C) Sulphadrugs

(B) Paracetamol
(D) Phenacetin

AR S SR qUT ST Sl @l a%E B hidl &

(A) TRufE
(C) GmrgT

PD-10-CAP 0
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. You have to mark all your responses ONLY on the

separate OMR Answer Sheet provided. See directions
in the OMR Answer Sheet.

. All items carry equal marks.

. Before you proceed to mark in the OMR Answer Sheet

the response to various items in the Test Booklet, you
have to fill in some particulars in the OMR Answer
Sheet as per instructions mentioned on the OMR
Answer Sheet.

. After you have completed filling in all your responses

on the OMR Answer Sheet and the examination has
concluded, you should hand over to the Invigilator
only the OMR Answer Sheet. You are permitted to
take away with you the Test Booklet, along with
candidate copy of OMR Answer Sheet.

. Sheets for rough work are appended in the

Test Booklet at the end.

10. THERE WILL BE NO PENALTY FOR WRONG

ANSWERS MARKED BY A CANDIDATE.

5. STRI S0 |l TR STl § fou U SR-we | &
3ifhd ¥ | SW-vAk § fa e fader Afm |

6. @Yy & 3 A E |

7. THY ol foF o wdevr gRce o fafir wediei R
TR SW-T5h R Afhd T TE H, STRI FowT
YHUT-U o W1 A TR F STIHR F forero Im-
Tk W ¥

8. o9 o Wfl YR &I SW-Th H A & %
T 9T F WM W el IT-UAE STEE Rl
fa S | SATTRT ST AT TeT0T YRTRT U STR-TAE i
et dl o S FY SR T

9, Fod T % U T T gierT & 3id o ® |

10, TEGFT3 T9A-A W IHIEAR g0 fiu U et sl
% o =i < 7 T <o

SPACE FOR ROUGH WORK / % &M & fu e
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